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R 321.7|-E|>28tI?Hz +75,1 550?10 50 over temp +1.210 +3.63 +0.90 2105>)<< 10.'28>><< (()).f (gém)) Nf\r}((j:tl\)/:iovgm
MO1569 1 Hz to 462kHz +50 +2.0 (100 kHz)
SuI;JAe?]I'SC?I\G/\O 1 Hz to 2 MHz +5 all inclusive +1.62t0 4363 +8.0 (100 kHz) 1.5%0.8X0.6 (CSP) LVCMOS
MO8021 1 Hz to 26 MHz +100 flezto e o s t;? N ft‘é‘;)
W —RE(MO8021)
=i s Min. Typ. Max. ==Tiv} 24
HEMEEE f 1 - 26 MHz
+1.62 +1.8 +1.98
EREBE Vdd \Y,
+2.25 - +3.63 Any voltage from +2.25 to +3.63V
o -20 - +70 Extended Commercial
EITREEE T _use C
—40 - +85 Industrial
ERiRE F_tol -15 - +15 x107® |Frequency offset at +25C post reflow
TN F stab ~100 _ +100 %10-° g@fﬂ#’aﬁﬁ%ﬁ%‘ SRERYE. STRREETENNBEREERE. A%
KEBEWL (1 5F) F_aging1 -3.0 - +3.0 X107% |T,=+25C
- +60 - f=3.072 MHz, Vdd = +1.8V, no load
- +110 +130 f=6.144 MHz, Vdd = +1.8V, no load
JHFEER (1] Idd - +230 +270 UA f=6.144 MHz, Vdd = +1.8V, 10 pF load
- +160 - f=12 MHz, Vdd = +1.8V, no load
- - +160 f=6.144 MHz, Vdd = +2.25V to +3.63V, no load
- +0.7 +1.3 ST pin = HIGH, output is weakly pulled down
(Sl I_std _ _ s KA lvdd = +2.25V to +3.63V, ST pin = HIGH, output is weakly
pulleddown
=g DC 45 - 55 %
0 BB ERE Voo - - Vddx0.1 \% loo =+0.5mA
1 EBYEE Vou Vddx0.9 - - \% low = —0.5 mA
EFtHitE. TRERTE] Tr, Tf - +4.0 +8.0 ns 20% to 80%
OE ¥ 0 BB EE Vi - - Vddx0.2 \Y
OF i 1 BBFHAEE Vi Vddx0.8 - - Vv
FEnIEdiE) T_start - 75 150 ms  |Vdd iIXEIZRAER 90% LIS 2 HIRTIE
FFHLETE] T_stdby - - 20 us  |STImTFIREIFR(E 50% LS HIEE
E ] T_resume - 2.0 3.0 ms  |ST imFiAEIFER{E 50% LUSET IR iE
_ - 75 110 f=6.144 MHz, Vdd = +1.8V
RMS EIHA# T T_jitt ps
- - 110 f=6.144 MHz, Vdd = +2.25V to +3.63V
~ 08 25 f = 6.144 MHz, Integration bandwidth = 100 Hz to 40 kHz
_ ) Vdd = +1.8V, Note [2]
RMS #Bfiziz  (FE#L) T_phj ns - -
_ _ 25 f=6.144 MHz, Integration bandwidth = 100 Hz ~ 40 kHz
Vdd = +2.25V to +3.63V, Note [2]
j2E53==tv) 1000pcs./reel (¢ 180) or 3000pcs./reel (¢ 180)
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[2]. MENBRAEESEAVIIESHIRIE+25mVIEZRIES .



